Ann Taylor Stores Corp.
http://investor.anntaylor.com/downloads/2004AnnualReport.pdf

Net Sales (in thousands) 

Total Company ……………………………………  $1,853,583

Ann Taylor ………………………………………….      854,865

Ann Taylor Loft  …………………………………….      826,556

Other …………………………………………………      172,162

WHAT MAJOR TRENDS AND DEVELOPMENTS ARE OCCURRING IN YOUR INDUSTRY?

WHAT AMOUNTS DID YOUR FIRM REPORT FOR EACH OF THE FOLLOWING CATEGORIES AND WHAT PERCENT OF TOTAL REVENUES, DID THAT AMOUNT REPRESENT? 

(In thousands)

REVENUE (This is 100%.) …………………………………….  $1,853,583 / 100.00 %

COST OF GOODS SOLD  …………………….. …………….       906,035 /    48.90 %

NET INTEREST  ………………………………………………..          5,037 /       .30 %

INCOME TAXES ………………………………………………..        43,078 /       2.3 %

TOTAL ALL EXPENSES ……………………………………….

NET INCOME …………………………………………………….
63,276 /       3.4 %

IF YOUR FIRM PRESENTED A CLASSIFIED BALANCE SHEET, IDENTIFY THE AMOUNTS YOUR FIRM REPORTED FOR EACH OF THE FOLLOWING CATEGORIES AND THE PERCENTAGE OF TOTAL ASSETS THAT EACH REPRESENTS: 

(In thousands)

CURRENT ASSETS   …………………………………….........  $  587,314 / 

PROPERTY PLANT AND EQUIPMENT ……………………...     434,328 / 

OTHER LONG TERM ASSETS ………………………………..      17,735 /
CURRENT LIABILITIES …………………………………………     243,746 / 

LONG TERM LIABILITIES ……………… ………………………    156,848 /

CONTRIBUTED CAPITAL ………………………………….......      669,128 /

RETAINED EARNINGS ………………………………………….     445,410 / 
WHAT AMOUNT OF WORKING CAPITAL DID YOUR COMPANY HAVE AS OF THE DATE OF ITS TWO MOST RECENT BALANCE SHEETS? 

WHAT WAS THE WORKING CAPITAL RATIO AT THE END OF THE TWO MOST RECENT YEARS? 

January 29, 2005 = $ 343,568    Current Ratio = 2.41:1   Debt to equity ratio = 0:1

January 31, 2004 = $ 400,298     Current Ratio = 3.20:1   Debt to equity ratio = .15:1

DOES YOUR FIRM APPEAR TO HAVE ABILITY TO PAY CURRENT LIABILITIES AS THEY BECOME DUE?  

PROVIDE THE PROPER AMOUNTS FROM THE MOST RECENT STATEMENT OF CASH FLOWS. IF ANY OF THE AMOUNTS REPRESENT A NET CASH OUTFLOW, SHOW THAT AMOUNT IN PARENTHESES: 

NET CASH IN/OUT FROM OPERATING ACTIVITIES = $ 169,259

NET CASH IN/OUT FROM FINANCING ACTIVITIES          (98,898)

NET CASH IN/OUT FROM INVESTING ACTIVITIES          (34,508)

NET INCREASE/DECREASE IN CASH FOR THE YEAR     35,853

CURRENT YEAR'S ENDING CASH BALANCE                     62,412

PRIOR YEAR'S ENDING CASH BALANCE 
                  26,559

CHANGE IN CASH BALANCE DURING THE YEAR             35,853  

DID YOUR FIRM DISCLOSE ANY SUBSEQUENT EVENTS IN THE NOTES TO FINANCIAL STATEMENTS? IF SO, BRIEFLY DESCRIBE THEM. 

PREPARE A PERCENTAGE ANALYSIS (COMMON SIZE INCOME STATEMENTS) FOR THE MOST RECENT THREE YEARS USING THE INCOME STATEMENT CATEGORIES BELOW: 

THREE YEAR ANALYSIS:                             2004                  2003                2002
· SALES  ……………………………………………   48.9%               45.5%             45.9%

· COST OF GOODS SOLD………………………  48.9%               45.5%             45.9%

· GROSS MARGIN  ………………………………   51.1%               54.5%             54.1%

· OPERATING EXPENSES ……………………..   45.5%               43.7%             44.3% 

· OPERATING INCOME ………………………..     5.6%               10.8%
    9.8%

· OTHER INCOME/EXPENSE …………………     0.2%

     0.4%               0.5%

· INCOME BEFORE TAX ……………………….     5.7%               10.6%               9.5%

· INCOME TAX ……………………………………     2.3%                 4.2%               3.7%

· NET INCOME ……………………………………     3.4%                 6.4%               5.8%

FROM THIS INFORMATION, IDENTIFY ANY SIGNIFICANT DATA POINTS OR TRENDS THAT APPEAR TO HELP EXPLAIN THE OVERALL CHANGES DURING THE THREE YEAR PERIOD. 

COMPUTE YOUR FIRM'S RETURN ON ASSETS FOR THE MOST RECENT YEAR. 

IDENTIFY THE SIGNIFICANT CURRENT ASSETS AND LIABILITIES. FOR EACH, PROVIDE THE FOLLOWING INFORMATION: 

· AMOUNT ON MOST RECENT BALANCE SHEET 

· AMOUNT AT END OF PRIOR YEAR 

· NET CHANGE IN DOLLARS 

· NET CHANGE IN PERCENT 

WHAT SIGNIFICANT CHANGES OCCURRED DURING THE MOST RECENT YEAR? ARE ANY OF THE CHANGES TROUBLING? ARE THERE ANY THAT YOU MIGHT WANT TO INVESTIGATE FURTHER IF YOU WERE AN OWNER OR CREDITOR? 

Effective management of receivables is critical for most firms. The change in receivables should be consistent with the change in sales. 

PROVIDE THE FOLLOWING INFORMATION REGARDING SALES REVENUE AND NET ACCOUNTS RECEIVABLE: 

· BALANCE AT END OF MOST RECENT YEAR 

· BALANCE AT END OF PRIOR YEAR 

· PERCENTAGE CHANGE 

ARE THE PERCENTAGE CHANGES SIMILAR OR ARE THEY DIFFERENT? DISCUSS THE IMPLICATION OF ANY DIFFERENCES. 

The following four ratios are computed to provide information about how well a firm manages its current assets and current liabilities. The computational formula and information content of each ratio is explained below. 

· Current ratio/working capital ratio is current assets/current liabilities. This ratio shows how many dollars of current assets are available to pay off each dollar of current liabilities. This ratio measures liquidity. 

· Accounts receivable turnover is sales revenue divided by average accounts receivable. This measures the velocity of receivables through the firm. In general, the faster that the receivables are collected the better, the higher turnover, the better. 

· Inventory turnover equals cost of goods sold divided by average inventory. This ratio yields an indicator of how long inventory is held before being sold. A high turnover is favorable and means that inventory is held only a short time before sale. 

CALCULATE EACH OF THE THREE RATIOS FOR THE MOST RECENT YEAR. 

SCAN LONG TERM ASSETS AND BRIEFLY SUMMARIZE THE SIGNIFICANT CHANGES THAT OCCURRED. 

